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Problem 1. Let X ~ N(—4,25). Find the following probabilities without software.

a. P(-14< X <6)
b. P(X > 1)
c. P(-9< X <6)

pos4, o
6 (%< Kre )= P(racZen)s 95
O PR )Rz s 5L 0w

© pP( -ﬁ&‘“< X?-"< ‘%f‘ )= P(-1e 2< 2) = P(F<a) - P(Z<-0)

~ (o.‘h;+ °°8 ) — ok = 0.975 - 0.k = 0.%I5
2



Problem 2. Let X ~ N(—4,25). Find the following probabilities with R.

* # Problem 2
a P(X|<2)
b. P(eX < 1) SO
. P(X?>3) {r}

m=-4; s =5
pnorm(2,m,s) - pnorm(-2,m,s)
pnorm(@,m,s)

® Pp (ca<X <a) = I’( K<) -P(Ze-2) . }j;‘mor‘m(sqr‘t(?a),m,s) + pnorm(-sqrt(3),m,s)

®  pP(x<) [1] .2295086
[1] 0.7881446

— [1] 0.8007507
© P(X>BItP(X<-5)= |-p(Rei)+P(X<-T3)

Problem 3. The length of human pregnancy is normally distributed with mean g = 270 and
standard deviation o = 10 days. Find the probability that a random pregnancy takes longer than # Problem 3
290 days or less than 240 days.

o {r}
m = 270; s = 10

P( X » 290 ) + P(X <240) 1-pnorm(290,m,s) + pnorm(240,m,s)

= — X c299) + P(X <2400
[—p(X=21)r (X< [1] 0.02410003



